
GIBANJE
PREMO
v=Δv/Δt=vΔv/Δt=vv/Δt=vΔv/Δt=vt=Δv/Δt=vvK-vZ

a=Δv/Δt=vΔv/Δt=vv/Δt=vΔv/Δt=vt=Δv/Δt=vvK-vZ

PREMO ENAKOMERNO
Δv/Δt=vs=Δv/Δt=vΔv/Δt=vv×ΔtΔv/Δt=vt
a=Δv/Δt=v0 v=Δv/Δt=vvZ=Δv/Δt=vkonstanta
PREMO ENAKOMERNO POSPEŠENO
s=Δv/Δt=vvZ×Δtt+(a×Δtt2)/Δt=v2
vK=Δv/Δt=vvZ+a×Δtt vZ=Δv/Δt=vvK-a×Δtt
vK

2=Δv/Δt=vvZ
2+2a×Δts

PROSTI PAD
h=Δv/Δt=vvZ×Δtt+(g×Δtt2)/Δt=v2
vK=Δv/Δt=vvZ+g×Δtt vZ=Δv/Δt=vvK-g×Δtt
vK

2=Δv/Δt=vvZ
2+2g×Δts

NAVPIČNI MET NAVZGOR
h=Δv/Δt=vvZ×Δtt-(g×Δtt2)/Δt=v2
vK=Δv/Δt=vvZ-g×Δtt vZ=Δv/Δt=vvK+g×Δtt
vK

2=Δv/Δt=vvZ
2-2g×Δts


